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OF:3-PNEPSEL 10 BII-ES]
5,500, 000& *70/100 3,850
OXZgagad EJH3=3  2,000,000&*70/100 1,400
OZee &AM 4,500,000& *70/100 3,150
OXegFEA~HEEAM 3,000,000& *70/100 2,100
OZEUEE EZANE XAEDI
1,400, 000& %70/100 980
OZSdHdedE IgH=s & =HAS
3,000, 000% %70/100 2,100
OEsts%3l 5,500, 000& *70/100 3,850
OZg2oH MR8 J|AB A3
3,000,000% *70/100 2,100
O0lcH & HAEE 3,000,000& *70/100 2,100
OFEX Otet=H 3,000,000& *70/100 2,100
OZOoIHEHEH FIIH=3
1,400,000& 70/ 100 980
OXxgScteld HAEEY FIA=F3
3,000,000& *70/100 2,100
Oos&s3d 3,000,000% *70/100 2,100
OELSFAEHIHAEZ HI|HF3
5,500, 000& *70/100 3,850
ozudl&aAag gl ot 5243
3,000,000% *70/100 2,100




M 250D
M 2o0i=aMdIE (2L 2 /230=)
@2 XNFo=24d3X (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SEEICE RSN
1,400,000% *70/100 980
OZEACOIES HAEY
8,000, 000& *70/100 5,600
OFAERAZE '&0 2= 23t
5,500, 000& *70/100 3,850
Oz=a2= goBo2Y
2,500,000% *70/100 1,750
OX&yEAIIS HIIA  3,000,000& *70/100 2,100
OZSA dHASIMADZ MAlS
1,400,000% *70/100 980
OFELZ AE, &=, Uszssdal
7,000,000& *70/100 4,900
OZa=E HMota 7,000, 000& *70/100 4,900
OFO0IItE S At IAAS
3,000,000& *70/100 2,100
SEEEI0EHAGE(EX) 900,693 838,871 61,822
) 642,137
< 77,567
Al 180,989
307 21201 A 900,693 838,871 61,822
| 642,137
< 77,567
Al 180,989
02 It S AHE L 900,693 838,871 61,822
OS2 0I2HAZ 900,693, 000& 900,693
| 642,137
= 77,567
Al 180,989
22 20F G2 Al NSAH(EX) 210,250 176,766 33,484
= 105,125
= 31,538
Al 73,587
307 2I2+0| & 210,250 176,766 33,484
= 105,125
< 31,538
Al 73,587
02 RIZFE MM E X 210,250 176,766 33,484
O=24Z0F =2 ALK& ALY 210,250,000 210,250
= 105,125
< 31,538
Al 73,587
SEZNE XA 18,900 18,900 0
307 21201 A 18,900 18,900 0
04 QIZFHALAIH B = 18,900 18,900 0
OHN4sl € ZMHE 27,000,000% *70/100 18,900




M 250D
H: S0z MPIE(SL2HZ /250 =)
e XY= dsXd (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SOlsMd N (EX) 60,000 50,000 10,000
== 25,000
Al 35,000
307 2Iz2t0| A 60,000 50,000 10,000
o= 25,000
Al 35,000
04 SIZ2HSHAAISH E & 60,000 50,000 10,000
OHM223 =0/ =H 60,000, 000& 60,000
& 25,000
Al 35,000
ZSHICH2SHH XK (EX) 110,000 110,000 0
& 55,000
Al 55,000
307 giztol & 110,000 110,000 0
< 55,000
Al 55,000
04 CIZ2tSHALALS B = 110,000 110,000 0
OZsHthEs A 110,000,000 110,000
= 55,000
Al 55,000
LSfHEZHQIIRM KN (EBX) 58,000 40,000 18,000
o= 20,000
Al 38,000
307 Q12t0| & 58,000 40,000 18,000
=} 20,000
Al 38,000
04 SIZ2ISHAMAISHE E X 58,000 40,000 18,000
OM163 ZEtolHEZAHRIIILA
58,000,000 58,000
o= 20,000
Al 38,000
ZEHIOZ2M2H0=H ANR(EX) 60,000 48,000 12,000
= 24,000
Al 36,000
307 QI2t0| & 60,000 48,000 12,000
= 24,000
Al 36,000
04 CIZ2tSHALALS B X 60,000 48,000 12,000
OHM163 ZSHIU=2MZ2H0=A
60,000,000 60,000
o 24,000
Al 36,000
SHOISHICIIZHAEIS Mz X (2XE) 270,000 250,000 20,000
< 135,000
Al 135,000
307 QI2t0| & 270,000 250,000 20,000




25 230z
Ho: SSHENSTS(SHLBB/250S)
e XY= dsXd (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 135,000
Al 135,000
04 QIZ2tSHALALS B X 270,000 250,000 20,000
OHM108 ZESELMWEHAEEY 270,000,000& 270,000
o= 135,000
Al 135,000
LHA AR B ASALMNE KK (EX) 48,000 30,000 18,000
= 24,000
Al 24,000
307 QI2t0| & 48,000 30,000 18,000
& 24,000
Al 24,000
04 CIZ2tSHALALS B X 48,000 30,000 18,000
OWAHAARZ A=A LY 48,000,000 48,000
= 24,000
Al 24,000
ctROHeas HI)A=3 NF(EX) 30,000 0 30,000
& 15,000
Al 15,000
307 2Iz2t0| & 30,000 0 30,000
= 15,000
Al 15,000
04 SIZ2ISHAAISH E & 30,000 0 30,000
OHM11g etCth &=2Y HI|AHAE3
30,000,000 30,000
& 15,000
Al 15,000
ANEZZ| 2 IEZ(2AIYE /SL0EE) 182,291 167,441 14,850
309 ME2 169,991 167,441 2,550
01 SAH- 2HINMNNEZ 169,991 167,441 2,550
OANEZCIZ2C 2AIYE ANEEZ 169,991
-EA0E= 169,991,000 169,991
404 ZAM2HE2NME2 12,300 0 12,300
01 SAH- BHAS2EEZ 12,300 0 12,300
OANE 2L Z2C 23 E 2852 12,300
-SA0EE 12,300,000 12,300
SCAIZ 2o AIE TS AMSIHQIZAWMAE X (E 30,000 0 30,000
x)
= 10,000
Al 20,000
307 2Iz2to| A 30,000 0 30,000
= 10,000
Al 20,000
04 SIZ2ISHAAISH E & 30,000 0 30,000




25 230z
H: S0z MPIE(SL2HZ /250 =)
e XY= dsXd (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OS T ALS 2otAtE TeAMGIHQI 2o M &
30,000,000 30,000
& 10,000
Al 20,000
BOYQHAERIZEAISY XH(EX) 50,000 0 50,000
== 15,000
Al 35,000
308 XAXIEHSOIA 50,000 0 50,000
= 15,000
Al 35,000
10 BI| 2 SHCHSHE A A CHEH A 50,000 0 50,000
02016 B9 QLHAER L& XA (A=
ch) 50,000, 000& 50,000
= 15,000
Al 35,000
s20UelAe=2 N (EX) 40,000 0 40,000
= 20,000
Al 20,000
307 S12t0| & 40,000 0 40,000
= 20,000
Al 20,000
04 SIZ2HSHAAISH E & 40,000 0 40,000
Os2nltel A= XIO0loFa & Lyl
40,000,000 40,000
== 20,000
Al 20,000
HAUSHAEY XN} (EX) 120,000 0 120,000
o 50,000
Al 70,000
307 212t0| & 120,000 0 120,000
o= 50,000
Al 70,000
04 SIZ2ISHAAISH E X 120,000 0 120,000
OFAHE & HAEY 120,000,000 120,000
& 50,000
Al 70,000
N=2MAEZHAEIE A 23,400 0 23,400
307 2iz2to| & 23,400 0 23,400
04 QIZ2tSHAFAFS B X 23,400 0 23,400
OHM33 = MAE HAEY
33,428,0002 x70/100 23,400
NE=cd=dXH 154,000 203,000 A 49,000
W asg K& 14,000 14,000 0
307 212t0| & 14,000 14,000 0
04 SIZ2HSHAAISHE E & 14,000 14,000 0




2N 230z
HH: RMsLATIE (2L 2E /20 =)
Sl XIUS SIS X (el mel)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHMI108! LHetak5 ot 3 20,000,000& *70/100 14,000
ZEACItH R 21,000 21,000 0
307 glz2+ol & 21,000 21,000 0
04 QIZFHALAIH B = 21,000 21,000 0
OHM213l ZEAICIDJIR M  30,000,000& *70/100 21,000
HIXIFEHAEY X 14,000 14,000 0
307 21201 A 14,000 14,000 0
04 QIZFHALAIR B = 14,000 14,000 0
OH6sl HIXIFAHAEE
20,000,000& x70/100 14,000
StHEE2 2H0IE2NE XN 14,000 14,000 0
307 21201 A 14,000 14,000 0
04 QIZFHALAIH B = 14,000 14,000 0
OstHEE2 clOIE2NE
20,000, 000& %70/ 100 14,000
EI220l=Ud X 28,000 28,000 0
307 glz2+ol & 28,000 28,000 0
04 QIZFHALAIH 2 = 28,000 28,000 0
OHM1al Ze=sd0l=HA
40,000, 000% *70/100 28,000
ZSELHIANISE2HE X 14,000 14,000 0
307 gl2tol & 14,000 14,000 0
04 DIZHHALAISE E X 14,000 14,000 0
OHM13sl ZS=LSH FIMUSE2H
20,000,000% *70/100 14,000
AN 230 =3 At X & 42,000 42,000 0
307 21201 A 42,000 42,000 0
04 DIZHHALALSE E X 42,000 42,000 0
02016 AlRI23t0l=& A 60,000,000 *70/100 42,000
EZSA MOCHE XI& 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 DI2HHALALSE E X 7,000 7,000 0
OHM248] ZEAMMKHE  10,000,000& «70/100 7,000
Fol=zsa 29 6,539,249 5,964, 106 575,143
< 45,000
Al 6,494,249
ANEl=st 29 X2 5,321,961 4,983,542 338,419
201 LBt2E | 15,000 15,000 0
01 At 22l 8,520 8,520 0




2N
X ZH -
L= B

el

230l = ot
EstdlsdAdIE (2L 2Z /230 =)
Zsttz=z2 24

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O1.28Bt=2H| 4,140
NEHEE ALEX As LY
2,700,000 2,700
A= el AlAE
40,000 *3CH x12& 1,440
O3.2g=Y 1,020
-AEd=SE g 2AE 1,020
iR 200,000& x 14 33| 600
=1 80,000& x1H x33] 240
o Hl 60,000& *1H x33] 180
05.3 | 3,360
“lEE HIITY ALEN 34
7,000 x4 x10L x 128 3,360
02 38244l 6,480 6,480 0]
O1.22222HA 6,480
-S9ER REZ 5 300& *1,800= x12& 6,480
202 04 d| 4,320 4,320 0
01 KOt 4,320 4,320 0
ONZ& H=c BXord oyl
60,000& *4H 3 x63] 4,320
301 LprE a3 5,270,141 4,942,222 327,919
06 212to1 =22 (4 H] 10,000 0 10,000
OFF0t0F AI&SH 10049 =olS3AtEE &
JHO H| 1,000,000& *10¥ 13| 10,000
09 HAIAHIBEAZ 4,000 4,000 0
ONEU=t HII3H NHJASAX 2H4
2,000 *x8H x100 1,600
OAEN=E I8 HEEAMA SHHE 2
80,000& *30H 2,400
V=Y - 2SESEAM2 5,256,141 4,938,222 317,919
OAEM=c o124 4,630,617
- ket ct 2,342,167
XNEX A= 80,000,000& *1&H 80,000
=23 978,912
* 205 2 (2¢4Z) 1,378,000& x 1 6 & 8,268
* 27 2(H2H) 1,358,000 «1Hx12& 16,296
* G2l (155 82) 1,187,000& 67 x12& 954,348
A2 978,912,000 *6/12 489,456
T HseHRAY 280,302
* 205 2 (24 439,000 x1H «6& 2,634
* 2758 (HRE) 426,000& x1H 128 5,112
* 4R (155 2) 339,000 x67H x12& 272,556
g A 140,000& x69Y x12& 115,920




2A: 2302
I SHUSHPNES (DAL /250 )
@2 S0 29 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
ESPL R 36,720
* O+ & 170,000 *1H +6& 1,020
* SR A QP S 170,000 x2H 128 4,080
F2H(12), B2(1)
115,000& * 13 x12& 17,940
* XA (1), ABEE(1)
95,000& x12H x12& 13,680
A = 50,0003 »69H 43| x12& 165,600
HE S| 978,912,000 x1/12 81,576
S 2,066,910,000& *55/1,000 113,681
g &ttt 1,679,903
23 740,568
* AS2(KFX) 2,166,000 x1H 128 25,992
* 7S 2 (H22) 1,358,000 x1H«128 16,296
* CH2l (195 2) 1,265,000& 46 x12& 698,280
= 740,568,000 6/ 12 370,284
T llseRay 204,456
*» M2 (K& 628,000& x1H x12& 7,536
* 2758 (HRE) 402,000& x1H x12& 4,824
* Gt (195 2) 348,000 x46H x12& 192,096
S oHFAH| 140,000 x48H x12& 80,640
& G 22,680
ENEDN; 230,000& x1H x12& 2,760
* TR & 170,000& x1H ~12& 2,040
CIER(4), B2(1), BET(2), SO
1) 115,000& x8H 128 11,040
FSTER(4), oE(1), D (1)
95,000 x6H x12& 6,840
S+ 50,0003 *48H x43| x 12& 115,200
H & SOt 740,568,000 x1/12 61,714
g &= 1,533,828, 000 «55/1,000 84,361
- =2c 608,547
DR 265,776
*ASE2(HEX) 2,166,000 x1H 128 25,992
* 7S E2(H2H) 1,358,000 «1H 122 16,296
* G2l (145 8) 1,164,000& «16H x12& 223,488
A= 265,776,000 x6/12 132,888
s RE 72,264
*HMSE2(HEN) 628,000& x1H x12& 7,536
* 2782 (H2H) 402,000& x1H = 12& 4,824
*» G2l (145 82) 312,000& *x16H x12& 59,904
HoHZ A 140,000& x18H = 12& 30,240
P 11,460

_20_




M 2H0ED
M. BosaMgINE (22 /250 =)
©e 230ss B 2 (29l 8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
* A= X} 230,000& x1H x12& 2,760
* SR & 170,000& x1H ~12& 2,040
*» N SR FHEE SHEY
115,000& x4 123 5,520
* XA 95,000& *1H x12& 1,140
S 50,0003 18 43| x12& 43,200
HAE S IHY| 265,776,000 x1/12 22,148
SRSE= 555,828,000 *55/1,000 30,571
OUzoedslas FM4g
70,000& 6 6 3] 2,520
Oz AAIRE =& 29,240
- AEHE AAMRE = 17,000
iR 200,000 *»25H *23| 10,000
=1 80,000& *25H 23| 4,000
° 0dbl 60,000& 25 23| 3,000
-G 28 MY =Y 12,240
iR 200,000& x12H *33] 7,200
=1t 80,000& *12H 33| 2,880
o Hl 60,000& *12H 33| 2,160
OO0l F|XZ 0F2tU0l AAIRY =¢ 680
-J| & 200,000 x2H 13| 400
=1 80,000& x2H *13] 160
-0d bl 60,000& x2H x13] 120
Ol 2 =8 84,000
- gketct 4,000,000 83| 32,000
-8 &t 4,000,000& *63| 24,000
- =2c 5,000,000 43| 20,000
-2H0HH BE2A50 ME 2,000,000& *43| 8,000
Od3& 2O HE 55,000
-&J] 89 10,000,000& x4 3| 40,000
-0l FXZ 02+ 0l 15,000,000& * 13| 15,000
OO0l sg2<3l 5,000,000& *43| 20,000
OOt 29 54,000
- gketct 2,000,000 x123] 24,000
-8 &t 1,000,000& *183] 18,000
- =2ct 1,000,000& *123] 12,000
el ¥ ABRS 500,000& *8= *x23| 8,000
Otlsa & IHot: =8 250,000& *123] 3,000
Ol ARA A Xt
100,000 =20 x12& 2,400
O3 AdlEA 239,152
- gketct 82,888
H2AXF X = 5,000,000 x1H 43| 20,000

- 21 -




2N 230z
I SHUSHPNES (DAL /250 )
& 2oz 2 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
TEEAKX 4,000,000 1«83 32,000
M2 CHR 300,000& x3H «83| 7,200
H3H 24 500,000& x123] 6,000
SHEX AHZE 100,000& »2H x123] 2,400
Soga 24 770,000& x123] 9,240
S S A 7,000&+72& %123 6,048
-g&EH 33,264
HAX 2T =Y 2,500,000% 1 *23| 5,000
ZEEAKL 2,000,000& 1= x63l 12,000
MR 300,000 *3H 63 5,400
H2H 24 300,000& x4= %43 4,800
SHEXTAZ 100,000 »2H 43| 800
S0 2F 770,000& *43] 3,080
Epsi=Eal:] 7,000& x52H «63] 2,184
-t 103,240
HAHS 10,000,000& » 1 x33| 30,000
M CHR 1,500,000& 4 H x43] 24,000
SHSEAE 2 a4z BHY
2,000,000& =43l 8,000
FH A 10,000, 000& » 1H 10,000
ZEZH (0183 1,000,000 *3™ 3,000
=& M=l 1,000, 000& *43| 4,000
S atdl (MEHl Z8)
120,000& »20& *43| 9,600
PHAZEH 1,000, 000& *43| 4,000
S =4l 7,0003 #19H 20 43 10,640
-{&lol |XIZ Of3tciol 19,760
HAHS 10,000,000& 1H x 13l 10,000
SHSEMAE & Stz B
2,000,000& =13l 2,000
&Sl 3,000,000 »1H 3,000
=& M=l 1,000, 000& *12] 1,000
Z ool MHI(MHIEH 2 &)
1,000,000 14 1,000
PSS 1,500, 000& * 13| 1,500
S ¢ =4l 7,000 *30H x6 L *13] 1,260
OW=H22H (WEAH SaH AT
1,800,000& »12& 21,600
Ollstsd 242 2¢ 12,600
- eketct 700,000& x123] 8,400
-SEC 700,000& x63] 4,200
Oll==#3d a2 K0l 11,760
- ekttt 10,000& »72H x123] 8,640

- 22 -



M 2H0ED
HH: RMsLATIE (2L 2E /20 =)
& 2oz 2 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
R A= 10,000& *52H »63| 3,120
Olfstgl ==& =5 HAEE &It 3l
10,000, 000& 10,000
Og=t =383 = 2,032
EONE= 2N 500,000 »1CH*3 1,500
-0ls Aldl 7,000& x19LH *4 4 532
O&= netAd=H &It 10,900
-XHE & X 500,000& *3CH*3 4,500
-=AlH| 40,0003 x80H 2 6,400
Ost=e&#AZXY &It 6,160
-XHE X 500,000& *2CH 2 2,000
-= Al 40,000 »52H »2 4,160
Oghatt BN 3 &I
500,000 »1CH*3 1,500
Ostl= =38=8 23 A3d|
1,000, 000& *13| 1,000
Ost= Algegaas Agsl Al
300,000& =13 300
OXBI(AER) & HRE ZH FA0YI
20,0003 x2H 30 0l = &+ 153 1,800
Ooulsd 24 o=+ 33,680
-WEAEH(SREHR) 640,000 25X 16,000
“SEE(EAEHE) 640,000& »22H 14,080
-HIE ZAZ o4 7Y 200,000& » 18 3,600
OZUWAIZ Z&gelll 8¢ &Jt&3 | 8,000
-SE&H Xt 1,000, 000& *53| 5,000
- &t 600,000& x53] 3,000
OZUWAIZ Zggeldl 3 &Jtodl 6,200
-285% SHEIL 150,000 x20H 101 Al = 3,000
-0% AN SHEIL 40,0003 «20H «4 Al 2 3,200
405 XHoHF S HI 32,500 22,000 10,500
01 AL ESFH S 32,500 22,000 10,500
Ouwgotct M mMs2(H=H0E)
12,000, 0002 = 1CH 12,000
Oumerettt HIOIAEH = 10,000, 0002 1CH 10,000
Otlst 202 2,500,000 = 1CH 2,500
Ozt (g 8a,213) HeASE
50,000& »160H 8,000
ENQTNZMAXN(EX) 290,000 0 290,000
< 45,000
Al 245,000
201 Let249] 290,000 0 290,000
= 45,000
Al 245,000

_23_




25 230z
H: S0z MPIE(SL2HZ /250 =)
& Stz 2 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 A2 I 290,000 0 290,000
O8N AN HEFERXNE Z& - AF ZSHZE
(Z Al 14584 0H=1) 290,000,000& 290,000
< 45,000
Al 245,000
ANEZC 2 M2 (2SANYE /25053 2) 927,288 980,564 NB3,276
309 ME2 818,088 819,264 AN1,176
01 BAH- 2HINMNEEZ 818,088 819,264 N1,176
OANE 2B SSAIEE dNEE2 818,088
-23lil=3l & 818,088,000& 818,088
404 Z2AM2HE2NME2 109,200 161,300 A 52,100
01 SAH- 2HA2HEZ 109,200 161,300 A 52,100
OAN&E 2L Z2C 23 E 2852 109,200
-2slil=3l & 109,200,000 109,200
NERIIE=LHS (2L 2Z/23 M) 5,576,587 3,457,662 2,118,925
= 2,642,989
J| 27,500
= 905,784
Al 2,000,314
SMEELE L2 5,576,587 3,457,662 2,118,925
= 2,642,989
J| 27,500
& 905,784
Al 2,000,314
23 2=z2e 383,895 347,687 36,208
101 2121 4| 12,265 11,351 914
04 JIZtHIZ22XNSES 12,265 11,351 914
23 =Y EE=HA 2]
48,2403 x2H x 3L x5 A +33] 5,210
OgdEe =42 EHII(HYE2) 1Ay
48, 240& 23 20 1,930
O24e 23 & s =22 22|
48, 240& 2 20 1,930
Oogdel o224 W Ex=HMH a12d]
48, 240& 2 20 1,930
O4EE JI1A282<=2 11,000,000& *11.5% 1,265
201 LEre Al 46,060 46,516 456
01 AP 2t 2| H| 45,700 44,116 1,584
O1.4 8t = H| 34,500
-2 B2 Let2H| 3,000,000& 3,000
-25 M YMMAAE (ASA) 222Y
500,000& 74 2~ 3,500
-2 MAE SLEE 1,000,000 33| 3,000
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e RMEELE>22 (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=Zst M et Er &XI 30,000,000& =14 30,000
O2M M WA (EIISIolY)
20,000,000& =14 20,000
O=2stM Astd X (S0
10,000, 0002 14! 10,000
O=stM et o185 &X 7,000,000& » 14 7,000
Od=el, s4deldletdl EM3 ME £X
80,000,000& =14 80,000
Onels gz 24 70,000,000 » 14 70,000
SSWNZTOISSH XA (2E) 4,900 6,500 A 1,600
< 1,470
Al 3,430
307 glz2+ol & 4,900 6,500 A 1,600
= 1,470
Al 3,430
02 It A AMHEE 4,900 6,500 A 1,600
OZ23t A& 0l &SHl 4,900,000& 4,900
< 1,470
Al 3,430
FEZZ2UHIS G AL A 22 TAS 43,860 63, 156 A 19,296
101 @124l 11,188 10,354 834
04 D12t Z22HEE = 11,188 10,354 834
OFELZ I AR S3FHl el
48,240 x2H x23| 52 10,034
OC4liE" JI2RES 10,034,000& *11.5% 1,154
201 et | 32,672 32,802 A130
01 At 22/l 9,560 9,560 0
O1.Let==ZH| 9,560
-HEX 2UIAE 2E LBt=2|
2,000,000& 2,000
-SRELI Z2QSEAE 22 7o
1,000& x6,000% 6,000
A EL 2HIEAMZ 2HH Y|
130,000& 12 1,560
02 2324l 6,912 7,042 A 130
O1.332LHA 3,990
-HEL 2HIAM2 2 AL 3,630
HdIIRs 250,000 122 3,000
a3 10,000& =122 120
o= 30,000& 128 360
AGH(AE 22X HHA) MASS
100,000& 100
SHMEE 50,000& 50
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& 15,750
Al 15,750
02 DI2tF AAEE X 52,500 0 52,500
OMMISTHAS 52,500,000& 52,500
= 21,000
= 15,750
Al 15,750
401 AIEHIZ 201 Y| 1,885,170 1,546,617 338,553
= 1,302,324
& 167,442
Al 415,404
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80,000,000 =14 80,000
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= 7,200
Al 16,800
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Al 18,900
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= 2,700
Al 6,300
O=382 =8 dHIIE2 BxRlas
20,000,000 =14 20,000
= 14,000
== 1,800
Al 4,200
OBHEYN S =323 AIY
30,000,000 =14 30,000
= 21,000
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= 5,760
Al 13,440
NEESME=(EX) 816,774 401,440 415,334
S 396,500
Al 420,274
401 AIEBI L 2 CHEI 816,774 401,440 415,334
< 396,500
Al 420,274
01 A€ dl 793,000 400,000 393,000
oxZg MM E= 300,000,000& » 14! 300,000
S 150,000
Al 150,000
OElERd EXHe 100,000,000 =14 100,000
< 50,000
Al 50,000
OgllaZfd R&X =HFU(23¥XY)
60,000,000& » 14| 60,000
S 30,000
Al 30,000
Odg 23X sdE =48 &€ == A M
40,000,000 14 40,000
& 20,000
Al 20,000
OZE Qcia ASEDY 22M L AM2S
16,000,000 * 14| 16,000
= 8,000
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O=xg 24e| gl A B
80,000,000& » 14| 80,000
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Al 20,000
02 2feldl 21,276 0 21,276
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OIS QLUHAF EIIAIE B
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Al 25,000
HEANZEZHY ALY (2H]) 320,000 0 320,000
= 80,000
& 84,000
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e RMEELE>22 (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot MEd(URY S ZH=s, LR
AW S) 2,000,000 2,000
401 Al HIZ 201 I 51,000 21,000 30,000
01 A& HI 51,000 21,000 30,000
ogtgzt == dXl € 834
3,000,000 »14 3,000
Ogupisses 203 g2
48,000,000& =14 48,000
HEAMNE LTAIAE SANESAL(EX) 7,920 0 7,920
= 3,960
< 1,188
Al 2,772
401 AIEHI L 2 CHEI 7,920 0 7,920
= 3,960
< 1,188
Al 2,772
01 A& HI 7,920 0 7,920
O=gA AL SN ES=ALE 7,920,000 7,920
= 3,960
< 1,188
Al 2,772
SE2ARNIAAMS(EX) 80,000 0 80,000
< 40,000
Al 40,000
207 O] 80,000 0 80,000
= 40,000
Al 40,000
01 289 80,000 0 80,000
OBSHSYA 222 AY JI2P44Y 8
80,000,000& 80,000
< 40,000
Al 40,000
EQLSI2SM orMAFYIHE HX(BX) 55,000 0 55,000
J| 27,500
< 8,250
Al 19,250
101 @124 Hl 55,000 0 55,000
J| 27,500
< 8,250
Al 19,250
04 12t Z2XEES 55,000 0 55,000
O=Zst M et ZHl el X 55,000,000& 55,000
J| 27,500
< 8,250
Al 19,250
23 MHerE 2| (EX) 250,000 0 250,000
= 173,000
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= 168,000
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Al 50,400
01 It 2 AL E X 240,000 0 240,000
O2ZAL 23 LAY X & e
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= 168,000
= 21,600
Al 50,400
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2IHI(2s0l=1t) 56,301 51,477 4,824
o 24l 56,301 51,477 4,824
101 14 dl 56,301 51,477 4,824
02 JIEt A2+ 56,301 51,477 4,824
OderdIIM(7TZ2:34 56,301
- 42,742,000& «1H 42,742
“A2H 22 R 9,018 1P #45A] 2t+123 4,870
IE=g 1,440
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JIEILS 20,0003 x4H 128 960
-ANHEHIE X 463,9903 1 x43 1,856
e = 155,000& »1H «12& 1,860
-tHer g sl 50,0003 x1H » 12 600
- UG A 130,000& »1H «12& 1,560
- JtE &l 42,742,000 *84%x*86%=*16/360 1,373
dHl(2350l=2t) 62,040 60,420 1,620
A el 5,040 4,620 420
201 Let2dE] 5,040 4,620 420
01 At 22l 4,740 4,320 420
ORN2Y LEt=& 3,620,000 3,620
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